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I, = 1152 mm*
L, = 512 mm*
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MDF Base(7| =) M 400mm x 400mm x 6mm -Z|2H3) 1
MDF Strip 7K 6mm x 4mm X 600mm 10 60
MDF Plate 200mm X 200mm X 6mm 4
HE 600mm 10 24

A4X| A 210mm x 297mm 10 8 80

AR 20g 200 3 600 Total : 1920 (H—I]I Dl_l"oﬁl)

2 A 3 2 0 [
IS 3 (4ea)

2H(4ea) 2% (4ea) 2% (4ea) 1% (4ea)

a47tS 1H(7|S4ea) 1H(E4ea) 1H(Edea) 1H(Edea) 1H(H4ea)

s —F
BEE
I
[ o

e e Rt 13 (4ea)
el e 7ts 13 (4ea)
HEICH 13 (20ea)

18 (16ea)

N
-
>~
==

damper A X| 29

s
oM
i
q

1%

Total : 170 (&)

e[
=
kA
g






